STATR i faara™

amu%‘cé"r

. e (w. 9. 1-5) namaﬂwmgafa}aream
& e faw e geat & 9% e,
TRITST :

9 YoF 9 A dB 307 G-I 3 TRada 8
& @1 3 uRad= g W, faaea, @ & de srmar
foeit 3 WIH W fears & €1 sareRor & fore, gt oo
29 oRadH e 20 €, S A o srefs aRads,
auf, dfell W et 3, @St & SHRa &M, Bell @
U1, I &I g, faa-3a § uRad=, ab &1 fuer,
g BT U7 ST, T BT ST, T1ae] Bl ThHT, Tara)
T, U 6 &1 &1, elig § S e, 3foiarat &
e 3Te | IRad F awgsi | fofi= voR & wemad
aIqH, §91dC d9T ST N deod| URdad T 9dd
BIE-7-BI3 BROT 2T 2
1. '"qH A NME-UE I YREdA <@d &l 3
R ST Te-Tre ¥ ey @
(1) $ad B (2) aa faemer
(3) $adl @ @ ATE  (4) | WH
2. 78 Ty & o ufad i # Seord fehan T @ 3
Y TR &1 iaferd e a1 €
(1) Reafy dR el (2) PR AR ¥
(3) §9ae AR GxET (4) HEE 3R A
3. URerd Ty e @
(1) af€ 98 anshEs &l
(2) 919 T SwH forg BI§ g A fban T @
(3) V19 T& PIg BN 7 B
(4) 99 TF IFH AT T Bl
4, TR AE-E B A UREdA o 9§ e R
-+ IerE e fopa T 22 :

() oig A S wE (2) ) B AT
(3) U B MY g1 (4) WO GH
Qi v IEnRa

DT 9 g3 giaT
ATcds UUe 2016

5.

10.

11.
12.

13.
14.

13.

gdter fafer 24 sie, 2016

T MW ¥ AU HH-qr s wEd stfEs
S 7

(1) aRadm & TR

(2) TR M-I BF drel g
@) Tegall @ P A HeATa
(4) faf=1 TR & TTEH

v=g ‘e’ # wge whE @

mad @ @T () TE
feq-Ta # WgEd T §

(1) IHHE (2) FHURY

(3 &= @ fe

TH 1 qEigaE 7

() aferd (2) T (3) IR (4) &R

‘o ufed B9 e, & fae uw wsg fafaw
(1) AfEIa (2) SIRITT  (3) IMHRHAD (4) IR
VI ST T T IS @
(1) 7798 (2) g9 (3) <X
W= gEE & A v B
(1) AR (2) WTd:PTA
(3) iy @) 9@t
e wam =1t gfd %l

§ wiwn - 9w 98 TR
I (g (3 IR
T’ WG H W §

(1) FF (S (3 I
3T 1 e wr=s =7 B2
(1) e[ (2) Afdwar (3) fRFT (4) IFRT
‘et oo’ form fafer Y w2

(1) 14 TaHR (@) 14 feawR

(3) 14 3R (4) 14 FiamR

(4) W%

(4) Xd

(4) T

Scanned by CamScanner



G

seT I English

Directions (Q. Nos. 16-20) Read the following
passage carefully. Answer the questions given
below the passage. Choose the appropriate
alternatives out of (1), (2), (3) and (4).

Passage

A well dressed young man entered a big textile shop one
evening He was able to draw the attention of the
salesman who thought him nch and likely to make heavy
purchases He was shown the superior vaneties ol
sult-lengths and sarees But alter casually examining
them, he kepl moving to the next section where
readymade goods were being sold and further onto the
hosiery section By then, the salesman had begun to doubt
his intentions and drew the attention of the manager. The
manager asked him what exactly he wanted and he
replied he wanited courteous treatment. He explained that
he had come to the same shop on the moming dressed
casually and drawn little attention. His pride was hurt and
he wanted to assert himself. He had come in good dress
only to get decent treatment, not for getting any textiles.
He left without making any purchase.

16. The young man was able to catch the attention
of the salesman because
(1) he called out to the salesman and demanded to be
attended to
(2) he was loudly dressed and behaved abominably
(3) he was smartly dressed and goodlooking
(4) he was well dressed and appeared rich

17. The salesman showed him the superior variety
of goods because
(1) the young man had a lot of money and demanded
to be shown only the best available
(2) he thought he could sell his less saleable items
(3) he thought that the man was rich and would prefer
expensive varieties

(4) he thought that the young man was a connoisseur
of good products

18. The salesman begun to doubt the young man's

intention as he

(1) kept moving from one section to another and didn't
buy anything

(2) continued o look at the displays In the windows
and kept asking to be attended to

(3) bought a lot of very expensive things

(4) he looked like a well dressed thief

19. The young man said that he had come to the
shop looking for courtesyas :

(1) the salesman had insulted him
(2) he was not attended to properly

(3) his pride has been hurt and he wanted to assert
imself
(4) Egnwsfgnted to teach the salesman a good lesson

20. The moral of the story is that
(1) one should not estimate ones status by

appearance
(2 cgﬁrlesms should be extended to everyone

whether well dressed or not .
(3) a customer no matter how rich or poor should be

accorded equal treatment
(4) a rich man doesn't always make the best

customer

Directions (Q. Nos. 21 and 22) Some of the
sentences have errors and some are correct. Find
out which part of a sentence 'Ims an error and
corresponding to the appropriate letter (1), (2)
and (3). If a sentence is free from errors then
mark (4).

21. His father died of cholera (1)/but his mother
also (2)/though very weak, is out of danger,
(3)/No error (4)

22. Suyesh is getting (1)/fatter because he
(2)/does not take exercise at tall. (3)/
No error (4)

Directions (Q. Nos. 23 and 24) Out of the four
alternatives, choose the one which can be
substituted for the given word/sentence.

23. One who is incharge of museum
(1) Curator (2) Supervisor
(3) Caretaker (4) Warden
24. A government by the nobles

(1) Aristocracy
(3) Autocracy

-4

(2) Democracy
(4) Bureaucracy
DirecFions (Q. Nos. 25 and 26) Four alternatives
are given four the idiom/phrase. Choose the
alternative which best expresses the meaning of
idiom and phrase.

25. Born with a silver spoon

(1) Bornin a middle class farnily :
(2) Bornina wealthy family

(3) Bornin aroyal family

(4) Born in a family of nationalists

Crocodile tears

(1) Pretended sorrow
(3) Aweeping crocodile

26.

(2) Tears a crocodile
@) Mildregret
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28.

31.
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38.
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Choose the word opposite in meaning to word  Directions (Q. Nos. 29 and 30) Groups of four

‘synthetic’.
(1) Affable
(3) Plastic

Choose the word which best expresses the
meaning of the word “subterfuge”.

(1) Candor (2) Ploy

(3) Honesty (4) Faithfulness
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